Logarithms

1. Find

a. log,,(0.01)
b. log,, 1000
Given log;, 2 = 0.3010,log;, 3 = 0.4771, solve log,, V6

How many 2digits are there for 2°°
Solve 6 log§ — 410g% + 2 10g§
If a® + b? = 6ab, prove logaz;b = %(loga + log b)
3 3 6
Prove logE -2 logg + logg =0
If 10g10 2 + loglo P — loglo 7 = 1, Find P
o 5 4 11
Simplifylogs 2 -t logs =t logs 1 v
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Given log, x* —log, x = 6. Solve x
10. Solve log;, G - %) + 2logq0 3 + logw;

11.Given log;, 2 = 0.301,log;, 3 = 0.477. Find log,, V24
12. Calculate log,, 40 — 2log;o 2 + log; 1

13.Solve 3log2 —log 6 =logx — log(x — 1)

14. Simplify logs 125 —logs 75 + logs 15

15.Given log, 3 = 1.585,log, 5 = 2.322 . Find

a. log, 60
b. log, 3.75
16.Solvelogx + log(x +3) —log(x — 1) =1

17.Given a = log 2, b =log 3, express answer in terms of a and b for logz + logz + logg

18.Given log, 2 = x,log, 3 = y, express answer in terms of x and y for log, (%a)
19. Calculate log, (4° - 27)

20. Simplify —‘°gli“;‘f5g 25

21.Given log,, 2 = 0.301,log,, 3 = 0.477. Find

a. log12 —log15
b. log30
22.Calculatelog 1 + (log, 8)(log; 243)

23.Solve (log5)? + (log 2)(log 50)
24.Calculate log 1 8 + log, V2
25.Solve %10g3 81 —log; 361° + %10g3 64
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